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Round the numerator and denominator to any place value that leaves no reminder. Answers 

may vary. 

 

35.84 ÷  5.9 

=  

=  

564 ÷  3.13 

=  

=  

844.32 ÷  6.7 

=  

=  

96.27 ÷  7.84 

=  

=  

720.34 ÷  2.84 

=  

=  

681.24 ÷  8.23 

=  

=  

73.24 ÷  7.24 

=  

=  

940.78 ÷  2.18 

=  

=  

754.36 ÷  2.82 

=  

=  

79.84 ÷  5.36 

=  

=  

480 ÷  8.14 

=  

=  

462.38 ÷  5.25 

=  

=  

126.62 ÷  4.88 

=  

=  

630.23 ÷  2.78 

=  

=  

664.38 ÷  12.28 

=  

=  

Dividing Decimals with no Remainder 
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Round the numerator and denominator to any place value that leaves no reminder. Answers 

may vary. 

35.84 ÷  5.9 

=  36 ÷  6 

=  6 

564 ÷  3.13 

=  570 ÷  3 

=  190 

844.32 ÷  6.7 

=  840 ÷  7 

=  120 

96.27 ÷  7.84 

=  96 ÷  8 

=  12 

720.34 ÷  2.84 

=  720 ÷  3 

=  240 

681.24 ÷  8.23 

=  680 ÷  8 

=  85 

73.24 ÷  7.24 

=  70 ÷  7 

=  10 

940.78 ÷  2.18 

=  940 ÷  2 

=  470 

754.36 ÷  2.82 

=  750 ÷  3 

=  250 

79.84 ÷  5.36 

=  80 ÷  5 

=  16 

480 ÷  8.14 

=  480 ÷  8 

=  60 

462.38 ÷  5.25 

=  460 ÷  5 

=  92 

126.62 ÷  4.88 

=  130 ÷  5 

=  26 

630.23 ÷  2.78 

=  630 ÷  3 

=  210 

664.38 ÷  12.28 

=  660 ÷  12 

=  55 

Dividing Decimals with no Remainder 


